Vol.26 No.2 2004

*1 *2 *3 *
2
1
1
1)
2.1
2 200mm
450mm 1
250x 250mm
JS
3
3mm SSA00
1
*1 ( )
*2 ( )
*3 ( )

*4

-637-



Bx D Ls/D Rs S Pw o Bz ven 5 ven Ves 5 ves vut & vmax 3 vu
[mm] [l Rs/D [mm] [mm] %1 [N/mm?*] [kl [l [T [l [kN] [mm] [mm]
2- D10-3-100-1 1.0 27.1 | 203.9| 0.8 312.6| 1.2| 817.2| 3.5 4.1 MS
2- D10-3-100-2 2.0 | 265 1.3 28.6 | 149.1| 1.0 213.6| 1.5 443.8] 3.9 6.6] S
2- D10-3-100-3 2 100 20.5 | 153.1| 2.1| 195.5| 2.8| 264.7| 5.4 10.5] S
D10 0.34
2- D10-5-100-3 465 | 2.3 27.7 77.4| 0.9 188.8] 2.7 302.6] 6.8 9.3 MS
SD295A
2- D10-7-100-3| 450 600 | 3.0 27.7 92.8| 1.0 208.2| 2.8| 335.4| 6.8 13.0] MS
X
1- D10-5- 50-3| 200 27.6 9.2 1.1| 192.6| 2.6 223.1] 6.1 10.0] MS
3.0 1 50
1- D13-5- 50-3 0.60 | 27.6 88.3| 1.0 195.5| 2.8 240.0| 4.9 7.3 s
265 | 1.3 — D13
2- D13-2-200-3 200 0.30 | 27.1 88.3| 1.3 207.5| 3.1| 251.7| 5.5 5.9 s
2
2-¢ 12-3-100-3 @12 | 100 | ss490 | 0.53 | 19.8 90.8| 1.1| 131.4| 1.6 280.4| 6.3 15.9] s
0- 0-0- 0-3 21.1 | 112.8| 1.3| 158.4| 1.9| 181.6| 3.7 3.8 S
)
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AL ACI ACI

vul | Wt | vuc2 | vus2 | wu2 | Vut | wvucer | vu2r | Vut | vuc3 | vus3 | wvuz | Vut Vul=Vucl=t ux Ux d
[N | Vor | [kND [ CkND | DKNT | oz | DKND | LKND | voze | LkND | CKND | [KNT | Vs ACI Vu2=Vuc2 Vus2
Vuc2=(1/2x t ux Ux d)
2- D10-3-100-1| 255.2| 3.20( 127.0| 90.4| 217.4] 3.76| 203.2[ 293.6 2.78] 71.7| 215.7| 574.7| 1.42 Vus2=(3 Awx o wyx d/S)
A Vu3=Vuc3 Vus3
2- D10-3-100-2| 262.2| 1.69| 130.5 90.4] 220.9] 2.0l 208.7| 299.1 1.48] 71.7| 129.4| 402.3| 1.10 Vuc3=tanf x (1-B )x Bex Dx v g B/2

Vus3=Bcx Jtx Pwo wyx cot@
2- D10-3-100-3| 222.0| 1.19] 110.4) 90.4] 200.8 1.32| 176.7| 267.1 0.99[ 71.7( 63.9[ 271.1] 0.98

2- D10-5-100-3( 258.0f 1.17| 128.4] 90.4| 218.8 1.38| 205.4 295.8] 1.02] 71.7| 86.2| 315.8] 0.96 T u=1/3x (0 B)?

U=4(C+d)
2- D10-7-100-3| 258.0| 1.30 128.4] 0.4 218.8] 1.53 205.4] 205.8] 1.13| 71.7| 86.2| 315.8| 1.06] o8B
c
1- D10-5- 50-3| 257.6| 0.87| 128.2] 90.4| 218.6] 1.02 205.0| 250.2| 0.89| 35.9| 95.9 263.5| 0.85| yAw
o wy

1- D13-5- 50-3| 257.6| 0.93] 128.2| 149.4] 277.6] 0.86] 205.0f 279.7| 0.86( 59.3| 89.4[ 297.3( 0.81 S

2- D13-2-200-3| 255.2 0.99| 127.0| 74.7| 201.7| 1.25 203.2] 277.9| 0.91) 59.2| 88.0| 294.4| 0.86

1
2-¢ 12-3-100-3| 218.2| 1.29| 108.5| 118.9] 227.4f 1.23| 173.7| 292.5 0.96| 94.3| 55.2| 299.1[ 0.94 ©)
0- 0-0- 0-3| 225.2| o0.81| 224.1] 0.0 224.2 0.8 224.1] 224.1) 0.8 0.0 85.8| 171.5| 1.06
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